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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-1_0
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P3-1

BfiE) | GEBATK (RY) | EHRE (EAH/K) | ERERE (B/R) | XS R

07:55 294 150.0 2.583 5| TfAe07:55 KENFERF (RFEI1EREE)
08:25 294 150.0 2.583 fI| FHA@08:25 AFFEF (KAERE)
08:55 294 150.0 2.583 fI| FHR@08:55 KREIERF (KAL)
09:25 294 150.0 2.583 |  HRe09:25 KHEFEF (KRFEAERES)
09:55 294 150.0 2.583 M| FiHA@09:55 KRENFEF (KRAERHE)
10:25 294 150.0 2.583 f| FiHR@10:25 RHMIEHF (RALER)
10:55 294 150. 0 2.583 1|  nHRe10:55 KEIEF (REAERES)
11:25 294 150.0 2.583 M| FuHe11:25 REEF (KAFEHE)
11:55 294 150. 0 2.583 M| FHR@11:55 RHMIEHF (CRAKZESR)
12:25 294 150. 0 2.583 A5| ThHRe@12:25 KEIEF (KREAERES)
12:55 294 150.0 2. 583 B5| ThHHe12:55 RAEF (CREAERESE)
13:25 294 150.0 2.583 FA| hHR@13:25 KRHMiZHF (RALESR)
13:55 294 150.0 2.583 FA| FnHA@13:55 KRENFEF (KRAERHS)
14:25 294 150.0 2.583 FH| FnHf@14:25 KRFIEF CGRAERS)
14:55 294 150.0 2.583 FH| FhHA@14:55 KREFEF (RAFEHE)
15:25 294 150.0 2.583 M| FiHfe15:25 KREEF (REAERS)
15:55 294 150.0 2.583 M| FiHe15:55 KEEF (kAERE)
16:25 294 150.0 2.583 M| FiHAe16:25 KREEF (KRAFEHE)
16:55 294 150. 0 2.583 f| FiHR@16:55 KREMIEHF (RALESR)
24t]5586.0 (19)%) 2850.0 3 HKEC: 2080.0, PH: 5.6

[E;&REC 6967.0 K5, EiNF{KECAE&M%ER
#H[EKECE (1897.0 vs 6967.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-1_0, Day=72 (2025-06-09)
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P3-1

BfiE) | GEBAK (R | EHME (EHRH/HK) | ERERE (/R | XK R

07:20 278 150.0 2.583 = {RRiB007:20 B (RFEAEEE)
07:50 278 150.0 2.583 = {RRiB007:50 Bzh (RAEEE)
08:20 278 150. 0 2.583 E[ BRi%@08:20 Bz (RFA{EREIEE
08:50 278 150.0 2.583 5| 1Rike08:50 Bz (KRFIEEE)
09:20 278 150.0 2.583 = RRiB009:20 B (RAKEE)
09:50 278 150. 0 2.583 E BRi&@09:50 B (RAERE)
10:20 278 150.0 2.583 F[ BRi%e10:20 Bz CGRAERSE)
10:50 278 150.0 2.583 = RRiB0@10:50 Bz (REAKEE)
11:20 278 150. 0 2.583 E BRige11:20 Bz CGRAERESE)
11:50 278 150. 0 2.583 S {Ri%e11:50 Bz (GRAERSE)
12:20 278 150.0 2.583 =l RiB012:20 B (REAEEE)
12:50 278 150. 0 2.583 E BRige12:50 Bz (GRAERERE)
13:20 278 150.0 2.583 5| {Ri%e13:20 B3 (RAERSE)
13:50 278 150.0 2.583 5| {Rike13:50 B (REAERS)
14:20 278 150. 0 2.583 E BRige14:20 Bz CGRAEREE)
14:50 278 150.0 2.583 5| {Ri%e14:50 B3 (RAERSE)
15:20 278 150.0 2.583 =l RRiB015:20 B (RFAEESE)
15:50 278 150.0 2.583 =l RRiB015:50 Bz (REAEEE)
16:20 278 150. 0 2.583 El BRi&e16:20 Bz CGRAEREEE)
16:50 278 150.0 2.583 F[ BRige16:50 Bz (GRAERESE)
17:20 278 150.0 2.583 =l RiB017:20 B3 (REAEEE)
=2it]5838.0 (21)%) 3150.0 3203 KEC: 2080.0, PH: 5.6

FEREHEM S STEAERS (179.0 : 145.0), AIBEMT—@E XFHE
FRINEPRIEBRE145.0 ml.

large discrepency for begining water status (402:84.0), set to 402 ml
[E;&EC 6500.0 K5, EiF{RECAERMitER

BEERECE (1927.0 vs 6500.0) 15
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P3-1_0, Day=71 (2025-06-08)
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P3-1

BfiE) | GEBAK (R | EHME (EHRH/HK) | ERERE (/R | XK R

07:20 273 150.0 2.583 = {RRiB007:20 B (RFEAEEE)
07:50 273 150.0 2.583 = {RRiB007:50 Bzh (RAEEE)
08:20 273 150. 0 2.583 E[ BRi%@08:20 Bz (RFA{EREIEE
08:55 273 150.0 2.583 5| 1Rike08:55 Bz (KAL)
09:25 273 150.0 2.583 = {RRiB009:25 B (REAKEE)
09:55 273 150. 0 2.583 E 1BRi&@09:55 BE1 (RAERRE)
10:25 273 150.0 2.583 F BRige10:25 Bz CGRAERSE)
10:55 273 150.0 2.583 = {RRiB@10:55 B (REAKEE)
11:25 273 150. 0 2.583 E BRige11:25 Bz CGRAERESE)
11:55 273 150. 0 2.583 S {Ri%e11:55 Bz (GRAERSE)
12:25 273 150.0 2.583 =l RiBe12:25 B (REAKESE)
12:55 273 150. 0 2.583 E BRige12:55 Bz (GRAERERE)
13:25 273 150.0 2.583 5| {Ri%e13:25 B3 (RAERSE)
13:55 273 150.0 2.583 = {RRiB013:55 B (RFAKESE)
14:25 273 150. 0 2.583 E BRige14:25 Bz (GRAEREE)
14:55 273 150.0 2.583 5| {Ri%e14:55 B3 (RAERSE)
15:25 273 150.0 2.583 = RRiBe15:25 B (RFAEESE)
15:55 273 150.0 2.583 = {RRiBe15:55 Bz (REAEEE)
16:25 273 150. 0 2.583 El BRi&e16:25 Bz GRAEREE)
16:55 273 150.0 2.583 F[ BRige16:55 Bz (GRAERSE)
17:25 273 150.0 2.583 =l RiBe17:25 B (REAKEE)
23t]5733.0 (210%) 3150.0 3203 KEC: 2080.0, PH: 5.6

WERRHEME S TEAERTS (176.0 : 145.0), AIgEMF—RE XAH45
BRI\ SEPRIERL145. 0 ml.

FE R 13 B RECEE SR <.

[&REC 6200.0 K5, EiNF{KECAR&RER

#[EKECE (1877.0 vs 6200.0) T 5

REXREBT I HEREC/PHESR K, FIREZINIERRKR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=70 (2025-06-07)
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P3-1

BfiE) | EBAK Y | ERE (EAR/HK) | ERERE (B/R) | KR R

07:25 273 150.0 2.583 i BRi8@07:25 Bzh (REERSE)
07:55 273 150. 0 2.583 5 ’Ri%@07:55 Bzh (kRAERESE)
08:40 273 150. 0 2.583 & ’R1%@08:40 HE (KAERKSE)
09:15 273 150.0 2.583 5 B2i%@09:15 B3h (kBIEREE)
09:45 273 150. 0 2.583 & ’Ri%@09:45 Bz (RAERESE)
10:15 273 150. 0 2.583 & ]Ri%@10:15 Bz (RAERSE)
10:50 273 150.0 2.583 5 B21%@10:50 B3h (kBEREE)
11:20 273 150.0 2.583 & Brige11:20 Bzh (REERESE)
11:50 273 150.0 2.583 5 BRige11:50 Bzh (REERSE)
12:20 273 150.0 2.583 5 BRi8@12:20 Bz (REEREE)
12:50 273 150.0 2.583 5 BRig@12:50 Bzh (KRBERESE)
13:20 273 150. 0 2.583 5 Ri%e13:20 Bz (RAERESE)
13:50 273 150.0 2.583 & i18@13:50 B3h (KRBERKSE)
14:20 273 150.0 2.583 i BRig@14:20 Bzh (REPERESE)
14:50 273 150. 0 2.583 5 Ri%e14:50 Bzh (RAERSE)
15:20 273 150.0 2.583 & BRi%e15:20 Bz CGRAERE)
15:50 273 150.0 2.583 i BRig@15:50 Bzh (REBERESE)
16:20 273 150. 0 2.583 & ’Ri%016:20 Bz (RAERESE)
16:50 273 150. 0 2.583 & ’Ri%@16:50 Bz (RAERKSE)
17:20 273 150.0 2.583 B FiT017:20 B3 GRAERE)
21t 5460.0 (20)%) 3000. 0 3EHKEC: 2080.0, PH: 5.6

HERRHEME STEAERTS (176.0 : 145.0), AIgEMF—RE XAH45
BRI\ SEPRIERL145. 0 ml.

[E&EC 5820.0 K&, EiFKECAE & MR

#[EKECE (1820.0 vs 5820.0) 5
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ET (ml/hr/plant)

P3-1_0, Day=69 (2025-06-06)
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P3-1

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:40 273 150. 0 2.583 E|  {Rige07:40 B3h (RE{EREE)
08:15 273 150.0 2.583 |Z=| {Ri%e08:15 Bzl (KREAEZHE)
08:50 273 150.0 2.583 (Z=| {Ri%@08:50 Bz (FRAERHSE)
09:25 273 150.0 2.583 FE| 1BRi&@09:25 Bzh (RAAEREEE)
10:00 273 150.0 2.583 FA| 1BRi%@10:00 B3h (KRAHEREEE)
10:35 273 150.0 2. 583 FA| 1B2i%@10:35 Bzh (RkA{EREE)
11:10 273 150. 0 2.583 FA| fBi&e11:10 B3h (RAFEREE)
11:45 273 150.0 2.583 FR| {Ri&e@11:45 Bz (GGRAEEE)
12:15 273 150.0 2.583 FH 1Rige12:15 Bzh (GRAEREE)
12:45 273 150.0 2.583 PA| {Ri%e@12:45 Bz (GRAEEE)
13:20 273 150.0 2.583 (Z=| 1Ri%@13:20 Bz (RAERSE)
13:50 273 150.0 2.583 (£ =| {Ri%@13:50 Bz (REAEHSE)
14:20 273 150. 0 2.583 |Z=| BRige14:20 Bz (GRAERESE)
15:00 273 150.0 2.583 (Z=| {Ri%@15:00 Bz (FRAEHRSE)
15:55 273 150. 0 2.583 | =| {Ri&e15:55 B (REAEZEBE)
16:45 273 150.0 2.583 (Z=| {Ri%e16:45 Bz (KREAEHSE)
2it] 4368.0 (167%) 2400. 0 323 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (278:81.0), set to 278 ml
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FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=68 (2025-06-05)

LR S L i ittt E PPy
V1, VRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 3000

2300 2288 =
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Warning: lcol [FVI',| "FVO’'] missing 150

200 4
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a1
o
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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